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Multiple Choice Question

1. Which of the following are zeros of the

quadratic equation ? (Note: i=x
2 + 9 = 0 √−1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BXLSNUMlaPmu


)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

±3

±3i

±8i

±81i

https://dl.doubtnut.com/l/_BXLSNUMlaPmu


2. Which of the following is equivalent to

?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(4 + 7i) − (3 − 2i)

1 + 5i

1 + 9i

7 + 5i

7 + 9i

https://dl.doubtnut.com/l/_FJ6NYP4PB9Q8
https://dl.doubtnut.com/l/_nqXptZTCBAGp


3. Which of the following shows

 written as a complex number

in the form ? (Note: )

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(2 + 6i)(3i − 4)

a + bi i
2 = − 1

−26 − 18i

−18 + 10i

10 − 18i

30 + 10i

https://dl.doubtnut.com/l/_nqXptZTCBAGp
https://dl.doubtnut.com/l/_vF0u78O9IfuU


4. What is the value of ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

− i
48

− i

i

−1

1

https://dl.doubtnut.com/l/_vF0u78O9IfuU


5. Which of the following is a solutions to the

equation ? (Note: 

)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4x
5 + 4x

3 = 360x i = √−1

−10

i√10

10i

√10

https://dl.doubtnut.com/l/_CV2PQZOh3jY9


6. What is  written in simplest

form? (Note: )

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√−18 × √−50

i = √−1

−30

30i

30

30i

https://dl.doubtnut.com/l/_XIffO7QSFurM
https://dl.doubtnut.com/l/_Z1GvTqvszh2R


7. If u and v are complex numbers such that

, which of the

following is equivalent to ? (Note: 

)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

u = 3 − 5i and v = − 6 + i

(u + v)2

i
2 = − 1

−7 + 24i

9 + 8i

9 + 8i

25 − 24i

https://dl.doubtnut.com/l/_Z1GvTqvszh2R


8. Which of the following is equivalent to

? (Note: )

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4 + 6i

10 − 5i
i

2 = − 1

+ i
2

25

16

25

− i
2

25

16

25

+ i
2

5

6

5

− i
2

5

6

5

https://dl.doubtnut.com/l/_Z1GvTqvszh2R
https://dl.doubtnut.com/l/_MWLcMmDBftuQ


9.  

If the expression above is rewritten in the

form a+bi, where a and b are real numbers,

what is the value of  written as a fraction?

(Note: )

Watch Video Solution

2 − i

5 − 2i

−b

i
2 = − 1

10. Which of the following is equivalent to

? (Note: )

A. 

10 − √−12

1 − √−27
i = √−1

−2

7

https://dl.doubtnut.com/l/_DbiIXTJiB76J
https://dl.doubtnut.com/l/_0TAkEhsJDugg


B. 

C. 

D. 

Answer: D

Watch Video Solution

28

3

+ i√3
−2

7

1 + i√3

11. If w and z represents two complex numbers

such that ,

which of he following gives  written in the

form a+bi? (Note: )

w = 3 − 2i and z = − 2 + 4i

w

2

i
2 = − 1

https://dl.doubtnut.com/l/_0TAkEhsJDugg
https://dl.doubtnut.com/l/_EiZ8tZldN3Gx


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

− − i
3

2

1

2

− − i
7
10

2

5

− i
13

20

1

2

+ i
7
6

2

3

12. Two complex numbers A and B, are where k

is a constant. If , what is the

value of k? (Note: )

AB − 15 = 60

i
2 = − 1

https://dl.doubtnut.com/l/_EiZ8tZldN3Gx
https://dl.doubtnut.com/l/_D3BVDc4moYwj


Watch Video Solution

https://dl.doubtnut.com/l/_D3BVDc4moYwj

